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GOVERNMNET COLLEGE UNIVERSITY ,FAISALABAD

MA Economics Part 1% 1** ' Annual 2015
Course Code: Eco-C Il Course Title:Micro Economic Theory

OBJECTIVE PART Time Allowed :30 Minutes Marks: 20

Note: The question No.1 is compulsory ans its all parts carry rqualmarks.Please attempt the answers on same

paper and return it to center superintendent with in the time allowed.

Q.No.1

1) Area between price line and demand curve represents

b) Consumer Surplus

a) Producer Surplus A é
¢) Social Welfare -
"0‘2*

2) In monopolistic competition equilibrium point is ;

a) MR=MC Q
b) P=MC '

c) MC=AC

3) When one can be made better off without making sog worse oft is called:

%

a) Pareto optimal b) No Ris )Pareto suboptimal

4) The "perfect information" assumptio f@t‘competition includes all of the following EXCEPT that
consumers : % '
a) know their preferences.

b) know the prices available.

¢) can anticipate price changes.

o~
5) Ifthe cross price ela@fdemand between two goods X and Y is negative ; it means that goods are:

a) Independent.
b) Complements.

¢) Substitutes.

6) The production possibilities curve for a nation outward will shift outward due to a?

a) reduction in unemployment.
b) increase in the production of capital goods.
c) increase in the production of consumer goods.

7) The primary use of the kinked-demand curve is to explain price rigidity in Oligopoly:

a) Oligopoly
b) Perfect competition.
¢) Monopolistic competition.

8) - Charging different prices to different persons in monopoly involved a case of price discrimination of

a) Third-degree b)second degree c)First degree

9) Costs of a firm determine all of the following EXCEPT:

R0




a) ~ Demand for a product. b) Firm's behaviour. ¢)How firms should expand?

10) Difference between willingness to pay and actually paid is known as:

a) Producer surplus b) Demand of product by consumer ¢) Consumer Surplus

11) If a simultaneous and equal percentage decrease in the use of all physical inputs leads to a larger percentage
decrease in physical output, a firm’s production function is said to exhibit:

a) Decreasing returns to scale.
b) Constant returns to scale.
¢) Diseconomies of scale.

12) We know that the demand for a product is elastic if:
a)  When price rises, revenue rises

b)  When price rises, revenue falls
¢)  When price rises, quantity demanded rises

13) If the price in a market happens to be below equilibrium, there will be 34 in the market, and the

price will tend to . @
a) surplus, rise '
b) surplus, drop ? @

c) shortage, drop
d) shortage, rise

14) Iso-Quant is convex to origin because of: \@

a) Contant MRTS

b) Increasing MRTS
¢) Decreasing MRTS :

15) A Dennnd Curve is price inelasgfc v

a) Changes in demand are pgdportiondtely smaller than those in price
b) . Changes in demand 'u rtionately greater than those in price

¢) Changes in deman al than those in price

16) A new lechnolo@xclps firms reduce production costs will cause a:

a) movemenQdoWiland to the left along the supply curve.
b) shift to the of the supply curve.
c) shift to the left of the supply curve

17) If the price in a market happens to be above equilibrium, there will be a in the market, and the
price will tend to

a) surplus, rise
b) surplus, drop
¢) shortage, drop

18) The price of good A increased from Rs.60 to Rs.75 with the decrease in demand from 1500 to 1000. What is

the elasiticity of demand

a) 1.60 b)1.33 c)2.5
19) A firms average variable cost is 70, its fixed cost is 3000 and its output is 600units Its average cost is :

a) less than 65 b)between $65 and $70. C) more than $70

20) The price of good A increased three times from Rs.40 and quantity demanded just dccxeased by half, what
will be percentage ealsiticity of demand?

)40% b)25% )60 %
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Note: Attempt any four questions. All questions carry equal marks.

Q2

Explain the Law of Equi Marginal Utility with suitable table and diagram IDiscuss its underlying assumtions and

the llmttatlons in real life practices. 2

p
‘.—Q/J’/// (////L/JZ// 9(9; 92(9/(/()/“"(//"/[-" )/u(}ﬁ//)/)/;/’
/I//J(Jb’ D2 ] o i O LA M//ﬂ/ LY

Q3

A) State and e xpla Law of decreasing MRTS with suitable schedule and Dlagram

. (j/a d v”/ct/" o"f f(jfwoﬂ"éi)/ljf///()/;/(f”_,,_

B) Find the output maximizing quantity for firm where Q - = LMK“j and C =10K+20L~= 2000. Also £

satlsfy the second order con»cflfllon ) L) Yy L 7‘44 O/ Z/ 1,‘,’,_/// Q Dy b (/ 7,

()

Qa

ﬂ/'/bﬁdl/é/(r”(ﬁ’rw/ /,/u(;,l/,)u// '/d/"@/)//’

DISSCUSS the general equilibrium theory with the help of 2 * 2*2(2by

'
e G Lot e N s e 2 Bra Bia

Qs

# Explain and compare the traditional and modern cost ¢

. ) 4 r P | ’ Y j‘
(B ples BN LY 22 e 0] ST

Q6

A) Explam and campare Monopoly and Monopolistic efition in detail? Also discuss that which one is better
for socie
v ///é//\//,v’/\///yl//)//y/(f// ol

YA u//uﬂ/,,u’_,

100-0.5P , where its total cost is C=10+20Q, find the Equilibrium

B) A monopoly faces the demand gurv
Price and Output of the fi d ind the consumer surplus. Now if the firm operates as perfect

ompetmon then recalculatg the P*, Q* and consumer surplus (using the same equations). p

0///1" -y u/[p/aj)///l-’aq? ~foc - aaﬂ,d/jy b//)ﬂ/w/ub’ J ]

Oi/éwww // ) 27/ t»rf a’»/w/ﬂ//ww (& Wd’c»/l

Q7

State and explain the theory of revealed preference with its underlying assumptions. Explain how we determine

Indifference curve under this approach?

W2 Zid e ‘s Gy 5’// Vs
- 1y o /)/ﬂ))(’ﬂﬁ/yw,/y(//ﬂo/(/@ﬂ/
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All questions are compulsory.

Q.1
(A) Tick the most suitable option:
e Macroeconomics is c;oncerned with the é
(a) aggregates of the economy
(b) determination of national income @»
(c) general price level
(d) all above
e According to Keynes generally an economy
(a) full employment level

(b) above full employment level
(c)below full employment level 2

(d) none of the above

e In the Consumption fung#fon C
(a) MPC

(c) both MP

(d) none & boye
e Permanent 1 e hypothesis was presented by

(a) J.M. Keynes

(b) James Duesenberry
(c) Milton Friedman
(d) Franco Modigliani

o It is the part of GDP’s component investment if Boeing sells an airplane to
(a) the US Air Force
(b) American Airlines
(c) Amelia Earhart
(d) Air France

o If government raises taxes which rises
(a) public saving
(b) private saving
(c) national saving
(d) investment

o Stagflation represents a situation of
(a) stagnation
(b) inflation
(c) both stagnation and inflation
(d) none of the above




e Generally the IS Curve is
(a) negatively sloped
(b) positively sloped
(c) vertical
(d) horizontal

e According to the Cambridge version of the Quantity Theory of Money, demand for money is
(a) proportional to the nominal income
(b) more than proportional to the nominal income
(¢) less than proportional to the nominal income
(d) none of the above

o Deflation is
(a) increase in price level
(b)decrease in price level :
(c) neither increase nor decrease in the price level

)
(B) Fill in the blanks Q ®

e According to classical economists normal\@omy works at

e The value of tax multiplier K&= i F ' !
aiity%\'veen

e IS Curve represents c&
W)

» Short - run ae) upply curve is

» Shock th@fts the aggregate demand curve is called a demand

o According to Keynes MPC is between

e High — powered money is currency held by the public and

e Aggregate supply curve is when wages and prices are
flexible.

o Aggregate demand curve is the relationship between aggregate output and

® The consumption function of the form C=Co +cY is called
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Attempt any FOUR questions. All questions carry equal marks.

Q.2

QJ3

Q4

Q.5

Q.6

Q.7

Explain classical theory of Income and Employment.
RS I I Z
.- Q
Critically examine Relative Income HypothesQ @
Lo lgc@@l/ 2 L &
Explain in detail the prese@@criteﬁon of investment.

sl Doz ST

Derive A@ate Supply Curve on the basis of the assumption that wages are flexible.
/7
. » S - T
_ - / > 1 gl
NI R IR T e

Explain the Effectiveness of Monetary Policy in the IS-LM framework.

PR R . Y 1
- U oG pt Pl A S v (-6

Write short notes on the following: U”‘/C/ . -
. b /3/(} YD
e / ol
(a) Liquidity trap. [ Vﬁ{ o b ()
(b) Fischer Effect. e
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Q. No.1

i) If Y = (2X = 1)(3X + 2), then the derivative of this function is obtained by

[ a) Power rule [ b) Quotient rule [c) Chain rule Td)Productrule |
i) f Qd=10—-2P and P =2 Then elasticity of demand will be

[a) 1 [b) 2 (o) 2/3 | 92 ]

iii) If Y = 300 and C = 200, then APC will be @

[a) 1 [ b) 2/3 | ['c) 3/4 d)1/4 ]
iv) The derivative of a variable with respect to itself is Q 4

[a) Zero [b) X [c) +1 [d) —1 ]
v) The change in total as a result of one unit char@own as

[ a) Marginal [ b) Limit ral d) Partial Derivative |
vi) Hessian determinant is used for optimi

[ a) Constrained [ b) Budget c) Inequality | d) Free ]
vii) Market is in equilibrium whe

[a)P=0 [b)Q >0  |c)Qd-Qs=0 [d)Qd—-Qs<0 |
viil) For minimization 2" ive is

[ a) Positive ro | c) Negative d) None B
ix) The decreasind\f ion shows relationship between two variables that is

[a) Zero [ b) Positive | c) Negative [ d) Infinite ]
x) In the equaticn Y =a + bX, X is called :
a) intercept | b) Constant | ¢) Variable [ d) Slope Parametei\

xi) If Y = (2X = 1)/(3X + 2), then the derivative of this function is obtained by

[ ) Power rule [ b) Quotient rule [¢) Chain rule [d) Productrule |
xii) The function Y = &" is known as -

[ a) Linear [ b) Quadratic c) Exponential d) Logarithmic

xiii) The derivative of a constant with respect to variable is

7]
a1 [0)0 o1 142 ]
]

xiv) Bordered Hessian determinant is used for optimization

[ a) Constrained b) Budget ' c) Inequality d) Free
xv) The Jacobian Determinant is used to test the functiorial dependence of

[a) Variables " | b) Constants c) Equations d)Botha &c
p-T-0 |



xvi) The determinant is only find for a matrix

@ﬁgll b) Square c) Row Vector | d) Column Vector
xvii) If Y =2X =1 and X = 3Z + 2, then the derivative of this function is obtained by

[ a) Power rule b) Quotient rule c) Chain rule d) Product rule ?]

xviii) The 2" derivative of Utility function is

() Zero | b)Positve ] o) Undefined d) Negative |

xix) The transpose of a transpose is a matrix

(@) Original _ b) A “¢) Null

xx) The transpose of a column vector will be

r_,_,g_‘._,_____.____,_____.

| a) Column Vector

b) a —matrix## ) ) N
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Note: Attempt any four questions. All questions carry equal marks.

Q.No.2 a) Derive the equatlon of a straight line. Y (10 +10)
ra x
ity o sl g(ﬂﬂvo’“o)‘u’dﬁ) A
i) Two-Point form & '

i) Intercept form :
b) Describe the condmons for optlmlzatlon of multl-vanable f

Q. No. 3 Solve the follownng equations by Inverse of a matrix (20)
;(},(_{L Iv\\/me’fé\'rw}-d’"l I)La«(f")?’-’

11X =Xy — X3 = 31
— X4+ 6Xy—2X;3=26
X1 —2X,+7X;=24
Q.No. 4 a) Explain constrained optlmlzatlon (8 +12)

I,J/,G 0é1l(hm afk\oh,b)/\""

b) Given two commodities m del. Find equilibrium price
and equilibrium quant for commodity. /-

\Cﬁ/él‘y///*"'/),c./‘—" /y(/&/u c',wb)d) (,h/((/u“d}bvu>
Qd, =410-5 Qd, =295~ P;— 3P,
Qs; = — 604 3P Qs, =— 120 + 2P,
Q. No. 5 a) Define Jacdbian)Determinant (6+ 14)
b) Give

C=19.75Q°~70Q+10 and P =100-0.25Q
Find Q where prof its are maximized. Also flnd Price charged and prof it earned

Cﬁ//;"é &b“///.,—r'/"f/’/* SL3 ks e’bv QW-QJ/(zL»//p-'—:r)@ fatd

Q. No. 6 Solve the fol!owmg Linear Programming problem by Graphlc Solution.  (20)

= = G S W L G s 20
Minimize : € = 30X, + 50X,
Subject to
6X¢+ 2X, =30
33Xy + 2X,224
5X¢ + 10X, 2 60
and X;, X, 20
Q. No. 7 Write short note on any two of the foliowings. (10+10)
e

. 2
- cﬁh 2 /_,,-3 A, 2 «
a) Homogeneous Production Function

b) Economic interpretation of Dual
c) Linear Programming
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Note: The question no. 1 is compulsory and its all parts carry equal marks. Please attempt the answer
on same paper and return it to center superintendent within the time allowed

Question no. 1
1. Any phenomenon which is not measure able is called

a) \Variable

b) ' Constant
c) parameter
d) Attributes

2. A frequency distribution formed considering two variables at a time ic called

a) Univariate frequency distribution
b)  Bivariate frequency distribution

c) Trivariate frequency distribution ) é

d) Bimodel distribution

3. Any measure indicating the centre of a set of data arranged in an increasing or decreasi Qof magnitude is called
a measure of @

a) skewness
b) symmetry

c) Central tendency \@

d) Dispersion
4. The measure of Dispersion which utilizes only extreme values is

a) Range

b) Quartile Deviation %
c) Standard deviation : %

d) Mean Deviation

5. The degree of peakedness of a unimodel distfiution is called

a) skewness
b) symmetry
c) Dispersion
d) kurtoses

6. The probability associated with the reduced sample space is called

a) Mathematical probability
b) Statistical probability

c) Conditional probability
d) Subjective probability

7. Let A be the event that two heads appear in a single toss of 2 coins, then the event A is called

a) Simple event

b) compound event
c) - Sure event

d) impossible event

8. A variable whose value is determined by the outcome of a random experiment is called

a) Discrete variable
b)  continuous variable
¢) Random variable
d) Qualitative variable

9. If A and B are two events cannot occur at the same time, Then they are

a) Mutually exclusive events

b)  Not mutually exclusive events
c¢) Independent events

d) Dependent events




10.

11.

12

13.

14.

15.

16.

17,

18.

The mean and variance of a binomial distribution are

a) npand./npq
b) /np andnpqg
c) \/35 and \/npq

d) npandnpq

Normal distribution is a

a)  UnimodelBistribution
b)  Bi model Distribution
¢)  Trimodel distribution
d)  Multimodel Distribution

Population mean is a and Sample average is

a) Population, Sample
b) Sample, Population
c) statistic, parameter
d) Parameter, Statistics

Level of significance is denoted by
a) «a K
%2
c) 1l-a
d 1-p
Plane for obtaining a sample from population is called . @
a) Sam'pling design
b) population design
c) Sampling distribution \ .
d) sampling frame
A statistic used to estimate a single value for u W ulation parameter is a
a) Point estimator
b) Point estimate
c) interval estimator )
d) interval estimate
A good scheme of educatioMjs rejected by ducation Pepartment, it is an example of
a) Typeoneerr,
b) Type two err@r
c) Correctglecisi
d)  Estimation
Slope of regression lineY on X is also called

a) -Regressioncoefficient of XonY
b) Regressioncoefficient of ¥ on X
c) Xintercept
d) Yintercept

The number of normal equations in the case of second degree parabola are:

a) 2
b) 3

< ¢) - less than or equal to 3

d) more than or equal to 2

19.For a 3x3 contingencytable,the number of cells in the table are

20.

a) 3
b) 4
c) 6
d) 9

The technique of analysis of variance is used to test

a) Equality of two population mean

b) Equality of several population mean

¢) Equality of two population Variance

d) Equality of several population Variance
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SUBJECTIVE PART ' Time Allowed: 02:30 Hours Marks: 80

Note: Attempt any four questions. All question carry equal marks.

Question no. 2 (a) Define the primary and secondary data with examples _4

(b) What is statistical average? Why averages are called measure of central tendency? Name the important types

of average. : 4

(c)What is empirical relation between mean, median and mode 4

{d)An analysis of the daily Wages paid to workers in two firms A & B belonging to the same industry, give the

following results ; §
Firm A ' Firm B )
No. of workers 160 150 e‘\
Average Wage 269 275
Variance of Wage 100 121
Find out (i) Which firm pays larger amount as daily Wages?

(ii) In which firm is there greater variability in individual wages?

Q no. 3 (a) Define (i) Mutually exclusive events \@ ﬂ
(ii) Not mutually exclusive events Q
(iii) Independent events _ : @
(iv) Dependent events @
(b) XN (70,25) Find (i) A point Thgt has 878%% of the distribution below it. 1_5_
(i) A point that has 81.7% of the distriblUgioRigbove it
(ili) Two pints between them 7 f iStribution lies
(@pints between them 90% of the distribution lies
Q. no. 4 (a) What do you undc&)y population, Sample, Parameter and statistic. Explain with examples. _6_
(b) Draw all possible samples of size 3 without replacement from the population 3,6,9,12,15. Form sampling
distribution of sample means find mean and variance of sampling distribution also find mean and variance of
population and show that (i) Mz = 1 H
2 =
(i) 6% ===
Qno.5 (a) Explain (i) Simple correlation coefficient ﬂ'_
(ii) Mulﬂple correlation coefficient
(iii) Partial correlation
(iv) Regression
16

(b) The following table shows the corresponding values of three variables X, ,X5,X3.Find

(i) The least square regression equation of X3 on X; and X,

(i) Estimate X3 when X; =10 & X, =6

% 3 5 6
% 16 10 7
% 90 72 54




0. no. 6 (a) Define the index number .What are types of index number. Explain them.

(b) Find chain indices from the following price relatives using geometric mean as an average

£=2}

Years Commodities
A B (o D
2001 85 72 110 65
2002 62 54 128 82
2003 104 87 111 100
2004 93 75 154 96

Q. no.7 (a)Explain the following in detail

(i) Acceptanceﬁeglon
(i) RejectionRegion

(iii) Type one error

(iv) Type two error

(v) Sampling with and without replacement

(b) Two random samples are taken independently from norm

S
>

18]

ation with an identica) variance yield the following result

15

i Sample | Sample Il
. Size -~ % 12 18
Mean %v 10 25
Unbiased variance ¢ e 4 1200 900

;> 10 at 1% level and 5% lev

Test the hypothesis that the tn%rence between the population mean is ten, thatis 1, - iy = 10 against alternative that i, -
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Note:The Question No.1 is compulsory and it’s all parts carry equal marks.Please attempt the answers on same

paper and return it to center superintendent with in the time allowed.

Q. No 1(A) Choose the corre

ct option

1*¥10=10

1. Helping others in all good things and avoiding sinful deeds,is known as

a. Benevolence

b. Brotherhood

c¢. Co-

operation

d.All of

above

2. The ownership of Mawat Land has been annulled after

“if the owner do

not work on it.

a. 2 Years

b. 3 Months

¢. 2 Months

3. Khalsa are those lands which are--------------—-

@ d. 3 Years

d. None of these

a. Poperty of Non- b. Wild and Barren c. c‘%‘
Muslims ' Prop&gty

A &
4. The only Published work of Imam Abu Ubaid is A

a. MugaddamaTarikh

b. Kitab Al Kharaj

>

Al justa fi Salam

d. Kitab Al

Ammwal

5. International Trade depends on propensity t@rt and export said by-------=---===-----
a. b. ImaQbu Yousaf ¢. Imam d.shah WaliullahDehlvi
AllamalbneKhaldoon ‘ \ IbneTaimiyya

6. A person is allowed to make portion of his estéte in Islam.

a. Two-third

c¢. Three-fourth

d. One-third

7. The term Mukhabrat meanS®=--------e-eomemeeeeo

a. Tenancy of garden b. Tenancy ¢. Mutual d. Market
Agreement Information

8. The Arabic word for Exprdience is

a. Mafawada b. Masaqat c. Istihaisan d. Anan

9. In Islamic Society the Demand for UN lawful goods and services will drop to -

a. zero elastic

b. More elastic

c. Less elastic

d. Unit elastic

10. The Golden age of Economic Development in the history of Islam is founded in the period of

Hazrat

a. Usman

b. Umar

c. Abu Bakar

d. Ali




(B) Fill in the blanks with appropriate words. 1¥3=5
1. Jaziya can be taken from

—

2. Islamic Economic is Positive as well as _ __sclence.

3. Nisab for Zakat in case of gold is

4 Riba-al- Nasia is prohibited by

5.7.akat cannot be spent on

(C) Answer the following short questions.
1.What is an Islamic Financial Bond?

2.Define Decent wage. @Q

3.Define the term ModeC‘Q
(©)

4. What is an Economic System of Islam?

5.What is Justice?
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Note:Attempt any four questions. All questions carry equal Marks.

Q No.2(a) Discuss the nature and scope of Islamic Economics.
(b) Explain the importance of an Islamic Economics.

(¢) Explain the impact of Adl and Thsan on Economic behavior of Muslims. / )//

J/Q/(j//ﬂ )/)/C/”j(jdl/ﬂ&/
b c/f/cjt/b”

)}/ U,M /) (J / ))\%@
%

Q No.3 (a) Describe the guiding principles for an Islamic systelQ
(b) Discuss the behavior of an Islamic firm in case oRopoly and Oligopoly 3 ,'/“J / e
@‘ A oa, //l/w/ u//-/:()“zf/
fglcﬂ%j e

, EL
‘ \ {// .
4 ,)'/ / {/7/(/" /)’d/ S uill

Q No. 4 (ﬁ) Defme Rlba Q) o j / C// 0[/ 29 C}
(b) Analyze its West_e ion. J
(¢) Why has Islam pm@d it? ‘ ' /
/u/”u’ £ JJ
/
(s v”&)/v//[" 13

/[/w/‘“/

)
ddfuM@Uﬁk/(
Q No.5 (a) Define zakat.
(b) Explain its importance in Islam. 45 /\»FJ ‘,)*
(c) Describe its role as an instrument of Fiscal policy. e S P ,
/J Dy s
— /% (—/1/ /ol/[,«.‘-" ,_/L/

/',,7.’/’0 e [f({( £”/UN(<,)MS Z
s ',__A sl /a J L
s i A A T




Q No.6 (a) Define Economic Development in Islamic Perspective,
(b) Describe the goals of Economic Development in Islamic Perspective. g
. A
(c) Difference between Islamic and Secular Viewpoims on Economic Development. & -'/‘”.’( 2

= oo ) onf ste pil
}_f/'/(‘ ) ;,,—’7;/] 2 j ( J)/ 3 s / / ) CJJ

Woms f - -8
) /9 ),(/ ﬂ//‘;’,;‘ﬂ/ S U - < ( ‘ "
)/ 2l . r C ]/L - Uw &,/: X%

9 I/ e ;L/V'KU/(;fi p
LAV, Bl 24000

Q No.7 Write notes on any TWO of the following:
(a) Contribution of Imam Abu Ubaid Al —-Qasim towalcls Islantig Economics.

(b) Use of Bai Salam and BaiMorabah in modern n\ ] | o
(c) Implementation of Zakat and Ushar in PakistzQ
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Course Code: ECO -& /& Course Title:Major Issues in Pakistan Economy

Time Allowed: 15 Minutes Pass Marks 10

OBJECTIVE PART

Note: The question No. 1 is compulsory and its all parts carry equal marks. Please attempt the answers on same
paper and return it to the center superintendent with the time allowed.

Q#1(A) Tick the suitable option (10 x 1=10)

I.  The unemployment rate in Pakistan during 2010-11 was
a) 7% b) 5% A 9% K d) 6%
II.  Government of Pakistan announced privatization policy and becc@ffective in
a) 1981 b) 1995 ¢l 199 d) none of above
(II.  Which of these countries has the smallest proportion ofgegopl¢ living on less than $1 a day?
a) Bangladesh b) China kistan " d) Mozambique
[V.  When GATT was replaced with WTO?
a) 1995 b) 1999 ¢ 1993 d) 1996
V. The highest govt. body for econoquax ng in Pakistan is

a) Planning Council b) Plagni ard c) State bank d) Planning Commission

VI.  The agricultural price sup}@rogram is an example of
a) equilibrium pricing ) a price ceiling ¢) a price floor d) none of these
II. The GINI coefficient is measure of
a) poverty b) inequality ¢) development ) all of these
II.  The govt. can control inflation by
a) increasing demand b) decreasing ¢) increasing d) decreasing taxes
for goods demand for goods money supply
X. Many people do not send their children to schools because of
a) poverty b) their own illiteracy ) harsh teachers d) all of these
X. Intra-industry trade is more likely to occur between
a) rich and poor countries b) developed and developing countries

¢) countries with high and similar income levels d) developing countries
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MA Economics Part — 1+ JS{ Annual ary 2015
Course Code: ECO - /& Course Title:Major Issues in Pakistan Economy
Time Allowed: 01:45 Minutes Pass Marks 40

SUBJECTIVE PART
Note: Attempt any two questions. All questions carry equal marks.

Q#2 Explain three major approaches to measure poverty. Also discuss poverty
issue in the light of most accepted measure of poverty. Do you think poverty
has decreased in Paklstan? . 2
- i g

P

A e o 7 ’//,/
{“g’/’i/j{/cf/(‘)/ = - “’(/[/((Z/'U '/</,(/l°f”/(/‘ &/ '

Q#3 Explain world trade orgamzatlon and examine the impact of WTO on
the economy of the developmg COQ ike Pakistan.”

70“/*}J‘ Jt/i”’/é‘ : ;’f/ f/\fTC)/J’ //fj, }’ IALT
% Uy C ,Hg/d/u////

},

Q#4 Explain the thy criteria and new index to measure unemployment. Also

discuss i he level of ununployment and its depth over time m Pakistan.

IR L w/w

,.l

; .
Ok S i oo £4 0ty

Q#5 Write short notes on any two of the followings:
i. ~ Comparison the land reforms of 1972 & 1977
ii.  Inflation in Pakistan
iii.  Cost and benefits of foreign loan and foreign aid in Pakistan.
iv.  Social Action plan
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GOVERNMENT COLLEGE UNIVERSITY, FAISALIBAD

MA Economics Part 2" 1st  Annual 2015
Course Code: Eco-D11 Course Title: International Trade Theory and Finance
SUBJECTIVE PART Time: 02:30 Hours Marks: 80 Pass Marks: 40%

Note: Attempt any four questions. All questions carry equal marks.

Q#2 Critically examine the traditional trade theories with special reference to theories
y f
developcd by Adam smith and David Ricardo,

9’);;)@("'[7>/uu/u,y—)d””jﬂ ”?/“}W
O”JO/DUMQ*’U”’”//d'—/"/‘“ <

Q#3 (a). What is the reason for increasing opportunity cost?why different
Countries have different production possibility frontier curves.
(b).How the Hecksher- Ohlin model explains the comparative advantage
as basis for trade.
e

. A ,
(J/(SLMJ 0L b ot O /"f»%"g] /’ﬂﬂ‘g{ @{rtj/{r/),w

- oL (//@uzt//ﬁw’/’
LR LGRS e B

Q#4 (a). Briefly explain the immiscrizing growth theory
(b).Explain the effect of cconomic growtl 1@11% of trade and economic welfarc of a

- F //Z/o (ord L-/U r)ﬂﬂ/j&fé}/?? 0{»&072@ ;) /“' g
G los s &ﬁ@%@,////u}u)w )
e /C/J o 't;/*”’

Q#5 (a). what arc the pdg¥e impacts of WTO (world trade organization) rules and rcgulation
oyhtrics like Pakistan?

on less develo

(b).What is iost gavored natlon
7~ - 5///}}/"
G5 i AD 7 5 4 Fplto et O
w7 S S terd o1l € &
-l “Mos? Favoured "/@7’0}7

Q#6 (a)How price mechanism remove the deficit in balance of payment under fixed exchange

rate system.

(b).Expalin “absorption ap r dc,h to devaluation.
T )] @) 8
/@ce q&éhd 6977‘"""4’/&/ u" l’
. bé(/.ﬁzuuv/’ﬂ) 4«»/,/0"(5;//6 /bwz)/«‘f”

d’)/" o (0 /%Jv‘bfﬁeﬂ ﬁﬂfich O‘ s u"’g @
Q #7 Write a note on any two of the fol ()wmgs/‘)'}) (frd,g,«ld,) '_), /,[)}/o'"

a) Stopler Samuelson 'l Iheordrt,

O},Q(/v/w /5'7[0%@ gqmv&'€§°ﬂ - Ur (ﬂ

o b) FFact 01 price L/Llldl)l ion 11 momm
RIS G 2 Lk 3 Usoter ) G2 1y

¢) Product cycle Theory.

- [;// 'P{OQLMC’Z' Oﬁ’v@e TMZM’(‘] (D)
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GOVERNMENT COLLEGE UNIVERSITY, FRISELABAD

MA Economics Part 2™ 1st ..  Annual 2015
Course Code: Eco-D11 Course Title: International Trade Theory and Finance
OBJECTIVE PART Time Allowed: 30 Minutes Marks: 20

Note: The question No.1 is compulsory and its all parts carry equal marks. Please attempt the answers on
same paper and return it to center superintendent with in the time allowed.

Q. No 1(A) Choose the correct option 10 marks

1. Which trade theory holds that nations can increase their economic well-being by specializing in
the production of goods they produce more cfficiently than anyonc clse?

The theory of comparative advantage.

The theory of absolute advantage.

The factor endowment theory.

None of the above.

. Which of the following factors influence trade?

Government. é

The relative price of factors of production. Q
The stage of development @»

d. All of the above. Q
3. In country A, it takes 10 labor hours to produce clggh antl 20 Iabor hours to produce grain. In
country B, it takes 20 labor hours to produce clotk 0 labor hours to produce grain. Which

O TP NAaos o

country should produce grain?

a. A Q
b. B @
& No country should produce grgf®. ®

d. Both A and B should produce €raig.

4. A company of the US has efcgss products that it does not want to sell into the US market
because it will bring down th estic price and instead sells it at another country at below the
cost of production. W iS\thiy called?

International traQe.

Countervailing

Dumping.

None of the above.

. Which of the following is not a reason to ercct trade barriers?

Encourage local production.

Promote import activity.

Reduce reliance on foreign suppliers.

Protect local jobs.

. Anti-dumping duty is?

Tariff on imports that are in excess supply in foreign markets.

The international agreement not to dispose of waste products in international water.

Levied whenever imports cause injury to domestic firms or workers.

A tax on exports from abroad cqual to the difference between their price in their home

market and their price for export.

7. Which of the following theories holds that countries will produce and export products that use
large amounts of production factors that they have in abundance?

ae TP a0 TR Ao o

a. Mercantilism.

b The theory of absolute advantage.
¢. The factor endowment theory.

d None of the above.

(P-T-O)



8. Which of the following statements would a mercantilist not agree with?

a. Imports are desirable.

b. Trade is a zero-sum activity.

g The purpose of trade is to amass revenues from exports.

d. A country can benefit by granting monopoly rights to individuals.

9.If all prices in one country (country A) are higher than all prices in another country (B) when
compared at the wage rates that happen to prevail in the two countries, and if the countries share
the same currency, then if the nominal wage rate in country (B) remains fixed.

a. The nominal wage rate in ¢country A will have to fall.

b. Unemployment must be higher in country B than in country A.

e. The real wage in country A must be higher than in country B.

d. Workers in country A 'must be less productivc than workers in cougtry B.

10. Developing countries stand to gain from international trade bec {

B Trade enables them to specialize in producing where they ha anparative advantage.

B. Trade subjects their local producers to greater competitios

& Trade allows them to produce larger jamounts than t @’consumc themselves,
taking advantage of increasing returns to scale. Q

d. All of the above. ‘ @
ill i i i ) \ 10 marks

(B) Fill in the blanks with appropriate word

11. if the opportunity cost of producing two [gog r between two countries, then specialization and
free trade will benefit both countries (T RUE/FALSE).

12. If all countries were endowed With@@ natural resources, there would be fewer opportunitics

for specialization and trade (TRUE/FALSE).

13. If Ttaly uses fewer resourges duce drink then California, then Italy has a comparative advantage

over California in drink p@ (TRUE/FALSE).
14. The terms of tradg egmatton fof USA is the index of USA export prices divided by the index of
import prices multipl 100 (TRUL/FALSE).

15. The cheap foreign labor argument is a legitimate argument against free trade because the cheap labor
leads to low costs of production (TRUE/FALSE).

16. When two countries engaged in free trade benefits, this means that everyone in both countries
benefits ' (TRUE/FALSE).

17. If a country is a most-favored nation under GATT (Gencral Agreement of trade and tariff), then
tariff rates for that country are zerg (TRUE/FALSE).

18. The national security axgnmcnt‘ against free trade is that goods vital to the nations sccurity should be
produced domestically (TRUE/FALSE).

19. Japan has a larger volume of inﬁpoﬂs and|exports than any other country (TRUE/FALSE).

20. Dumping refers to a firm selling its goods in foreign markets below its domestic cost in order to
derive competitors out of those markets (TRUE/FALSE).
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GOVERNMENT COLLEGE UNIVERSITY, FRISALABHD
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Course Code: Eco-D12 Course Title: Econometrics; Theory and Application
OBJECTIVE PART ‘Time Allowed: 30 Minutes o Marks: 20 .

Note: The question No.1 is compulsory and its all parts carry equal marks. Please attempt the answers on same
paper and return it to center superintendent with in the time allowed.

Q.No.4 A) CHOOSE THE MOST APPROPRIATE ANSWER FROM GIVEN OPTIONS.
(i) Multicollinarity problerﬁ refers to the situation in which two or more

g r(lr;dependent variables ©~  ----e-mee- correlated but not perfectlymd}z_ﬂZ
> »wa:iyvgﬁq,éjéf JﬂbAqud\\fML \/Q’
(a) Highly (b) Low iU c) Derfectlj (d3 No
(ii) The proxy variable is a variable which is used in f the variable

T SRS Qs

(a) Public ' (b) Business (c’Ummy (d)Botha &b
(iii)  Forecasting the dependent vari I@a single value is called---------
forecasting,, |~ N - P
eCésyﬁin ) ([)J| 9J5(j/ﬂg ZJ\//«\
(@) Apoint | (b)Int (c) Exact (d) None

(iv) The value of the Cc of determination (R ) falls between:

Jyu /‘a,k)),f)ﬁ Y bd/(ﬁ)é%gﬂa&f
(a)-1&+1 @b)o&u (c)-1&0 (d) -100 & +100
d

(v)  The met commonly used to test the overall significance of a

'_/wét c:,é““// bl J/ﬁf))ﬁ/& &J

(a) st (b)t test (c) \ -test (d) Durbin-Watson test
(vi) Ifanequation js ---------- ldentlfled the lndlrect least squares cannot :
/ be applied: - £ 4/(5/:‘ e il L B f
o S JJ,JJ WiLe . 52 | 0,
(a) Exactly ' (b) Under (c) Over (d) None
(vii) The mean of forecast erlror should be---------- for a best forecast
L S e N 2 s — J//JJ/A/U/”
(@) - (b)o | (c) € (d) Zero
(viii) Durbln Watson test is used to check-——--—— :
a__—\?bj\)\,id‘/' ARSI T »w“‘& Ducy bin-Wak |
(a) Homoscedasticity = (b) Heterosedasticity
(c)AutocorreI?tion , (d) Multicolinearity



(ix)  The t-testis used to test a hypothesis about any---------- partial

. / regressmn co effICIen - " o b A - ;’y &
, RSN V) S ( \s 550k
L,(iwdw‘ Dot s ﬁ}d it i n 3. f27
(a) Individual (b) Combine (c) Overall ~ (d) Nothing
(x) In a single equation regression model, the dependent variable is
. related to———-‘————_—-—lndependent variable: L
kg d,_'/’f/“ El g 3;)4 Y /)/x Y S Qﬂf Madel &' 2 \va)(

(a) Only one| (b)Only two  (c) More thantwo  (d) One or more

B) Fill in the blanks: '
| L/JU) iz 2/ = 5: Lo V Gold-
(i) - Goldfeld and Quandt test is used for detecting------------------ Clondt
BN A FY L Ll —— ,\VJ bt a6 s
(ll) 25LS method is used fior estimation GF e dentlfled
equation system. ) { .

\/L/ \7 (\/]f/ j)‘})\/‘ U,J‘,J {7 3.

(iii)  OLS method cannot be used in case of ReflEetN-----------—-- w
V 7 7
) z_.__\, \rsz = U /,gﬁd AQ '0/R)/‘ﬂl\7 d’/j)b//'(/:/'

(iv)  Efficiency is achieved by------------ sample size.
At} s\
&= U,_,,Y))

AT S eon by
(v)  The --e--eeeeeetm ‘models de

) e Jh
the structure of the relationship of

the economic variable. SRS o .
()/2 d"\\.?‘ g_/l oz 5% L J ) k/c o SLJ‘ \/, NJ\JJ | ] b) \/«
(vi)  The ----mmmmmmmree % are also known as trlangular or casual models

v

/\/ R J&” r,}/ 7
(vii) Conditiagal castlng always be —————————————— ferecastmg. o

b >

2—-\" if‘ rv/ e /L,ﬁ4 \\,“) Variance S( ,)'(é-
atar havmg smallest variance is called----------------

|

(viii)
ator

¥ ﬁw Figheod —— 17 Vo N1z ‘U ni‘/ LS
(ix)  ILS method i3 used in ¢ase of----—----mmt-mm- equation system.
U\ £ &< ﬁ’ L k/\fw “Doomm \}

G

(x) Dummy variables are also known as---------------- variables.
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Time Allowed: 03:00 Hours Maximum Marks: 100 Pass Marks: 40%

SUBJECTIVE PART Time: 02:30 Hours Marks: 80

Note: Attempt any four questions. All quéstions carry equal marks.

. D
Q No. ZGL\;%né?e dat ! N Mé"’ ﬁ;&féx&*éh{ +& (j b&)‘[ f),’cﬁ)

y | 4 [45 [ 50 | 55 |60 | 70 65 | 65 | 75 | 75
. 9 |8 |9 | 8.7 |6 161815 5
x, | 40 | 50 | 60 | 70 | 80 | 90 | 100 {110 | 120 130

Estimate the model by OLS.

%9))2‘ s Z slape

& B2).

a+B1X1t+B2X2tJ-lf; ) \)\7 Sign. d

Test the significance of slope co- efflcemts

Qv

QNo. 3 7 Adli-G17- 5l fetsa.
(a) Clearly bring out the ce between hetroskfdas’;i/city and auto-
Bl Jo sottBXer €,
correlation. 2 {/Jd lf‘// )J/jy/%_q)szM . oLS
(b) Conside Qmodel t—-a+BXt+Et The OLS residuals are given as
er= 0.43,0.12,-0.22,-0.50, 1.25,-1.31,-0.25,
-0n3,1.07
pute Durbin-Watson test for auto correlatuon at 5% IeveLof 5
significance. Cﬂ*/ S bl e e U/J 22
Table value at 59 level of significance k=1 n= 10 di=-0.879
du=1.320
QNO.8, L e Wi £ il ogte oo 4 U
(a) Show that two (first and second) forms of order conditions for

identifications are equivalent.
(b) Show that the ILS (Indirect Least Square) method and 2SLS (Two Stage

Least Square) method glves the same results for an exactly identified e
equation. N UL L emld ﬂ,d/k/ JL'“/«/" \/\70// % d)f

A J b O D 0P s oL j o7 asLs sl ILS

PT.0




Q No.5 Y
S Ayt A (OJI_M(J S
(a) Discuss various types of forecastmg
(b) Drive the variance of unconditional forecast error from the model:

RTra¥ u/lcf/"’ux’“" ,\Al’f///}c"/" Maded gd//)
-C//’ j_}( f/é}ﬁ,{aﬂte ¥
(i) ais estimated B is known. 7/“be /,é b 04//‘ <G

(i) B is estimated a is known.

e q
_ﬂmﬂ»a»uﬂwL/ e’ﬁ/‘“
Q No. 6 Obtain the reduced form equations for the following model,

Ye=a+B X+t

7 - /7
R oot ) Mol e o o 4
Ct=aot+ai1Ye+U1 Uy’ » \/J’L”zf/w’ u@‘/&(ﬂ/ o e
lt=bot+b1Yt+b2Yi1+U2
Vi= Cethi+Ge 2L cf":f)b‘”/d/a(,u/ e

Also check the identification of each equation.

Q No.7 Wwrite notes on any two of the following. @

(@) Auto-correaltion. |
(b) Lagged Variables. f \®

(c) Formal rules for identifi &
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OBJECTIVE PART Time Allowed: 30 Minutes Marks: 20

‘Note: The question No.1 is compulsory and its all parts carry equal marks Please attempt the answers on same
paper and return it to center super/ntendent with in the time allowed.

Q. No.1

1) Autarky refers to a country

a) with an
authoritarian
government

b) which is self
sufficient, and is a
closed economy

c¢) which has free
trade with the rest of
the world

d) none of the

)

. 2)Which of the following is the most appropriate measure of econ

!

Qvelopment:

a) PQLI b) GNP . ¢) HDI d) None of these
3) Gini coefficient =1 means:

a)Perfectly b)Perfectly inequality c)h Ql of d) None of these
equality ome

l

4)A Lorenz curve sh

OWS

>

a) A series of points
where income is
equally distributed,

b).A series ints
where botlN e
and we arg equally
distibuteg;

O

¢)The actual
relationship between
the percentage of the
population (income
recipients)and the
percentage of income
that they actually

d)None of these

5)Balanced growth theory advocates:

receive

a) a steady rate of

a) a steady rate of

a) a steady rate of

a) a steady rate of

growth of GNP growth of GNP growth of GNP growth of GNP
6) The Arthur Lewis model utilizes the assumption that,

a) an unlimited b) supply of labor is a | c) labor supply d) disguised
supply of labor is | strictly increasing grows at a fixed rate | unemployment

available at a fixed
wage rate

function of wage rate

must not exist in
the agricultural
sector

]

7) Open economy refers to:

a) One sector
economy

a) One sector
economy

a) One sector
economy

d)variance of
average income

8) The best technique to measure competitiveness of trade is

a) Absolute

b) Comparative
advantage

¢) Revealed
comparative

d) Openness of the

foreign sector

iu/L/l}rI (C%

27O



9) ASEAN stands for

a)Association of
South Asian

a)Association of South
Asian Regional

a)Association of
South Asian Regiona

a)Association of
I | South Asian

Regional Cooperation Cooperation Regional
Cooperation Cooperation
10)SAARC stands for

a) South Atlantic
Association for
Regional
Cooperation

1

b) South Asian
Association for Racial
Cooperation

¢) Some Asian
Association for .
Regional
Cooperation

d) South Asian
Regional
Cooperation

(B) Fill in the blanks with appropriate word

1. In the Harris-Todaro model, in equillQ\ ,

willbe

N

R

€ €X

__the rural wage

With perfect income equality

coefﬁcient

*Association for

10 marks

pected urban wage rate

in.a country would be

3. Number of persons wi I@ ork and able to work but not getting work

are called
4. P ‘ginlroduced the HDI.
5. The GD wth rate of Pakistan in 2014 was
6.

R

pose migrants

é@

g to Malthus, the fixed factor of production is

cquilibrium, the expected urban wages will be

rate.

9. As

inequality first

10. In

migration takes

place

the

then

Gini

introduced the capability approach.

are risks averse, then in the Harris-Todaro model, in

the rural wage

coefficient of

growth of population is likely to increase.

stage of theory of demographic transition, the rate of
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Note: Attempt any four questions. All questions carry equal marks.

Note: Attempt any four questions, all guestions carry equal marks

Q. 2. (a) Describe importance and scope of Economics De velopm Growth and

describe the Neo- (,lassu:al theorles of Economics (e u"vﬂ/l? . )
o e (B ol ) i B LAWK 1) L e
Cr’/u Le 7 b AU (Y lae

,

(b) Critically analyze Kuznet’s mvcﬂe’% U hypf the'

T S b e

Qw iopment and i your opinion what

CI L 2 1 _itd 2 u’/u”w
,,_4_,///,’; ’/’/d// fds ﬂ'

(b) Explain in detail Ros@stag@s of economic g;rv vih. According to your
opinions economy o; stanl stands at which stage of Rostow s Model‘? : /

Q.3. (a) Discuss different proxieq of econo
proxy is the best one 7, / '
uww(l/}//};/ (/v, /‘/

, S/ ey
-éi_ 5’ /J«’/‘“‘”’C" //, o (//f /f’w/é e

wd
Q. 4. Explain Hm@o ar Model in detail. 7
- ,cJ
e g5 e (/S QP L J >z Hm DAY
. (a) Dis@us

\.‘7

kse’ stous Clrcleo Pover[y e p
/ u«ﬁ//ﬁ f// “/‘;)‘/7/(,”",,// J“, v
Y 94 (/J ¢ )5l

Q.6. (@ Comparﬂ St:mc an Ad Dynamm trade And draw su1tab1e dldnrams L

s J—Lu"( f /) /J(/ ’//’/ ///// ;/[7 oy /J / v./,o/:”///;{’);;'"
(b) Explam Big Push Theory in detail? y; S

(b) Discuss Solow model

Q. 7. Write short notes on any Two of the following:
~~(a) Developmént policies in Pakistan. ”
o s e /w’ (= ’/ 2l w’/
(b) Ind usmahzatmn a and nx fman ng !

5 / /./ = cL’
(c) Endogenous Gzc wth t heory

Pz

P ~ A 46 [; Ay ""u:"" Yo
(d) Natural Resources / 7 \ J( =

| 9
L (;’//;i (J//,u"
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Note: The question No.1 is compulsory and its all parts carry equal marks. Please attempt the answers on same
paper and return it to center superintendent with in the time allowed.
I. What is the purpose of doing research?
Q. No.1 a.  To identify problem.
b. To find the solution
¢c. Botha&b.
d. None of the above
2. Which of the following is non- probability sampling?
a.  Snowball
b. Random
¢, Cluster
d. Stratified
Which scientific method focuses on testing hypothesis developed from theories?

W

a.  Deductive method _ &
b. Inductive method @
¢. Hypothesis method ’
d. Pattern method : Q
4. Which of the following is not an essential element of report v 1@
a. Research methodology
b. Reference
c¢.  Conclusion \@
d. None of these
5. In group interview there are
a.  One interviewer & one interviewee.
b.  More than one interviewer & one int
¢.  One interviewer and more than @ghe gt@a/icwee.
d. More than one interviewer & mor h one interviewee.
6. All research process starts witfl?
a.  Hypothesis
b. Experiments to te othgsis
c. Observation
d. All of these
7. The method thafconsfsts of collection of data through observation & experimentation,
formulation & testing of hypothesis is called?
a. Empil"ical method
b. Scientitic method
¢.  Scientific information
d.  Practical knowledge
8. A research paper is a brief report of research work based on.
a.  Primary data only
b. Secondary data only
c.  Both primary & secondary data
d. None of the above
9. The purpose of a literature review to.
a.  Use the literature to identify present knowledge and what is known.
b. Assist in defining the problem and operational definition.
c. ldentify strengths & weaknesses of previous studies.
d.  All of the above.
10. A variable that changes due to the action of another variable is known as the?
a. Independent variable
b. Extraneous variable
c.  Dependent variable
d. Complex variable
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Time Allowed: 02:00 Hours Maximum Marks: 50 Pass Marks: 40%
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Note: Attempt any two questions out of four. All questions carry equal marks.

Q#2 Explam the dlfferem sources of data collectlon for etﬁment research process.(20)

OSJ/ J))ﬁj Z» j‘f’b(}*’ (51 st Z ,é//j”
,»(j/ )(/'7/;)/§ g//)/Q//

Q#3 What are the scales of measurement? Explain different t}ﬂs of scale of
measurement. (20) /. y
)
()D”‘/‘/ /(Jﬂ///f, (_)) //‘/L/{é/ % 5//6 )’/
~ (s ,,/;/,9(; ). ;JJG
Q#4 What are dlffelent stages of research p Fxplam each of them. .(20)
. K / y o / /Q ‘ J )/
ol g (K- O g e b/ Pl A
oS o
Q#5 Explain the followi @ ; Tkl )
a) Sources of Secofdary data - (nj C]/) ;"j') ’/J”o S /é /J
51,5 &E ) o T
DK G AU (e
b} ] p bab1hty samplmg

Non & 2y Sompliy (b
The:)regc’a?l Research ‘
G2 3L (e

d) Internal Validity

Ew\c%ﬂc& \)"\&‘OLAZ' (_o(
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GOVERNMENT COLLEGE UNIVERSITY, FAISALABAD

MA Economics ; Part 2™ 1st Annual 2015
Course Code: Eco-605/D51 Course Title: Monetary Theory and Policy
OBJECTIVE PART Time Allowed: 30 Minutes Marks: 20

Note: The question No.1 is compulsory and its all parts carry equal marks. Please attempt the answers on same
paper and return it to center superintendent with in the time allowed.

Q. No.1

5

Q. No 1(A) Choose the correct option 10 marks
!
. Which of the following groups is most hurt by unexpected inﬂation?é

. workers with cost of living pdjustments in their labor contracts
. homeowners Q
. people with large debts to pay for their homes and cars Q @'

ts

. people with large retirement savings held in savings accoun

Q0 G & -

. If the nominal interest rate is 5% and the inﬂation@Z%, the real interest rate is:
2%

3% @Q
" >
. The monetary base is composed of: %

. gold and silver

. currency only QQ

© o oe

O T o W

. currency and reserves

4. If the Federal Reser, VG;A to increase the money supply, it should:
a. raise the reserve req@irémegnt

b. raise the discount rate

. buy Treasury securities in the open market

(@)

. An increase in the money supply will cause interest rates to
. Tise

. fall

. remain unchanged

o & W

(e

. “Inflation is always and everywhere a monetary phenomenon.”
. Marshal

. Friedman

. Keynes

o o P

. Monetary policy is the process by which the monetary authority of country controls
. money

. supply of money

. exchange of money

[N uEE "R |

8. Primary tool of monetary policy is
a. taxes

b. open market operation (/yx 7‘,/' Q

c. prices of money



9. Which one is not a limitation of monetary policy in LDCs?
a. High liquidity

b. foreign banks

c. Threats to credit market

10. The demand for money

a. positively related to output and the rate of interest

b. negatively related to output & positively related to the rate of interest
¢. positively related to output & negatively related to the rate of interest

(B) Fill in the blanks with appropriate word 10 marks

I~ The Phillips curve shows relationship between the rate of inflation and the rate
of unemployment.

2. An increase in price level reduces the real money supply and shifhN.M curve -

3. Transactions component of demand is proportional to ’ .

4. describes the combinations of intere Q and aggregate output for
which the quantity of money demanded equals the qua ey supplied.

5. Arapidly growing money supply will cause .
6. Liquidity trap refer to a situation where the money becomes infinitely elastic.

7. One tool that in which central bank sale a\ 'chase the govt securities to control

»

the money supply is
Money is what money .
g. monetary policy causesfaNn2rease in bond prices and a reduction in interest

o0

rates.

10. A lower exchange rate causes%@to increase, imports to decrease and the balance of

trade to
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Time Allowed: 03:00 Hours Maximum Marks: 100 Pass Marks: 40%
SUBJECTIVE PART Time: 02:30 Hours Marks: 80

Note: Attempt any four questions. All questions carry équal marks.

Q#2 "Money is what money does.” Explain this statement and also describe the
nature and function of money.

///)/Oir/g/‘é/@ O/”uf/ﬁy iy '%d)//’l(}”

()"7/0&U’(f’”/”{“’”}/(5

Q#3 What are main causes of inflation in Pakistan? Wh i¢ies are adopted
to control inflation in Pakistan?

U/Q O )UOWGQJ?’/)O”UW“’ - 13407
(b OU’Q\@ "o

Qt#4 Construct Keynesian model of pri emplo ment Al 0 explain the
yn P ploy P
i model

7 J / ;

. 2108 5 s (/g/) / Al
3 /’ =) !
G2 E s £ 8 ="

Q#5 Derive supply equation by using monetary base. Also derive
PPy €q y 8 y

the mofiey fultiplier where commercial banks have certain excess reserve

ra / / L | )
/@, iy 2t aerd ke G 2 G

L L G/JQMO’/ ﬂ)(ﬁ'u/(/w G
A

Q#6 What do mean by neutrality of money? How did the classical economists

establish the neutrahty of money? "
/ /
uL/vh/Qb/”’/y g()/ /((//w(/ﬂ/d//f s(r

w Sy L d (//’/MJ’/’G//LW’V

Q # 7 Comment on the following statements

a) The Quantity Theory of Money is a Theory of demand for Money.
b) The Quantity Theory of Money is a Theory of demand for Money—

Income Determmatlor; J;/ \,«Lb (27/ P )Ja,) /)//()} ~ ))J (J I
/"}/’D e f"“'(,)v/\/)) //nf/tj__)/////y}/}J =)
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 GOVERNMENT COLLEGE UNIVERSITY, FAISALABAD

MA Economics Part 2" ‘ 1st Annual 2015
Course Code: »Eco—D52 _ Course Title: Public Sector Economics

OBJECTIVE PART Time AII_owed:’BO Minutes Marks: 20

Note: The quest/on No.1 is compulsory and its all parts carry equal marks. P/ease attempt the answers on same
paper and return it to center superintendent with in the time al/owed

Q. No.1) Canon of equity of taxation states: :
a) all should be b) low amount of tax | ¢) No tax at all. d) equals should
taxed equally imposed be treated equally
and vice versa.

2) A budget is a financial document which shows for a year. If the expendituges in the
budget exceeds the revenues, it shows the incentive to printing new notes :;

a) Developed b) Developing ¢) Growing ﬁf&ll of above.
Countries countries economies
3) Fiscal Policy is chalked by the: Q ~
b) SBP b) SBP | b) SBPa, (/3 b) SBP

-4) The situation or change that makes one person bet X. without making anyone worse
off is called: ' o\

- a) Pareto " | b) Individualism R d) Marginal
Efficiency ' rovement Benefits

5) At I‘lld_]OT Public sector eco §dedls with choices

a) Within the ublic c)Botha& b d) None of the
public sector te sectors above '

6) Expenditures spar8g by/the Govt. For BISP are: -
a) Development. b) Non development | ¢) Poverty d) All above
expenditures expenditures expenditures

7) Normally in any economy Positive Economics in public sector

a) Deals with what | b) Looks at the scope | ¢) Attempts to d) All above
“should be” | of Government evaluate alternate
economy functions | activity policies

8) A primary role of Government is t
a) The production | b) The purchase of ¢) The redistribution | d) All above

of goods and goods and services of income
services
9) When increase in Govt. spending is just equal to increase in taxation, this is effect of:
‘ a) Tax multlpller b) Govt. spending ¢) Tax-Budget d) Balanced
multiplier multiplier budget multiplier
10) Wthh tax is the most difficult of shift to others? :
a) Personal b) Excise Duties ¢) Corporate Income | d) Sales Tax
Income Tax Tax




paper and réByiitlicinetiierslmskis twitkeapyiiopitietémaeibwed. 10 marks

Q. No.1

i, How much canons of taxation were presented by Adam smith

ii. Budget represents an estimation of and for upcoming year.

iii. The tax at each stage of its production on the addition of value of a product is
called | |

iv. Goods compelled to individuals by the government to consume are called
~___goods.

v. The “Government Failure” or “Market Failure” attributgd to -
information and incomplete control over private marlg ponses.

vi. Fiscal year is the federal government’s accounting ;@. .
na

vii. A tax imposed on cooking oil (the basic ne miodity) is . tax.
viii.  When money is owed to the lendgr @in the =~ it is called internal
debt. .
ix. When government revenues ag ®and expenditures are less the situation is
~__budget.

~x. Public goods are O’ and ~ by definition.

e 4

&’
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Course Code: Eco-D52 ‘ Course Title: Public Sector Economics

Time Allowed: 03:00 Hours Maximum Marks: 100 Pass Marks: 40%
SUBJECTIVE PART Time: 02:30 Hours - Marks: 80

Note: Attempt any four questions. All questions carry equal marks.

2. Justify the need of public sector resource allocation in Pakistan? Also explain the
concept of “Free Rider Problem” with examples P :

,;
L 1% ’ ) L}‘” 20 (=) L,‘n/ b vf;f’/’ ! “
. u SEh e ) ) r’ {3 *bw,

. a)Explain the Canons éf Public expendlfmes 7
5 u’)/)k, 4/‘”'[ 251 U){Q@bff{b} 2

b) Differentiate the proportlonal and progressive taxes w ble examples

U; s (J;’[ ”L,'./V’/ /,}J}(gw (;/ 5 0l r”[__t,?.'

4. a) Discuss all types of taxes with su1table € s with special r;ference to
Paklstan "

(v ) (. wUﬂ 9 ’f/) ,»)U‘be(

b) Discuss the sahent featur ccent budget of Paklstan

%U : %/— U;)“fﬁ o L -’457‘)/%}‘”(}[ [
nt i )

s of Pakistan’s § tax structure? Also lnghhght the

5. Explain the Sdllel
loopholes i ip the Q x structure of Pakistan. ] i
. , {: /j [ S
‘LU/‘/ O u/r 5/,\\”/{,;.; (. ,}L[ (5 ( [b L«(/f

G b )y L (/i»

6. On the ba$i Wagner’s hypothesw what are the reasons for tl:\e extensmn of
public sector? /

N ,,, ’1/“’ "y
9 ; [,“‘\ ] o 3'/’(} /u"”"” """ /)L AL }7%

7. Explain the concepts of market failure and state failure? Justify with arguments.
How should it be tackled? . s

[ y p 1 £ é’}
)’f(//)’% }/[fi M/'(_/,,j/u ) L« L H ’)L/”,,inﬂ o S A
‘%L‘“C”/’” Yy

}74 {fﬁl ’7”("1 "[ 4

MJ s (6

P ‘}
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| QUESTION PAPER: EXTERNAL EXAMINATIONS
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Course Code: Eco-D53 Course Title: Managerial Economics
OBJECTIVE PART Time Allowed: 30 Minutes : Marks: 20

Note: The qilestion No. 1 is compulsory and its all parts carry equal marks. Please attempt the answers on same
paper and return it to center superintendent with in the time allowed.

, Question # 1 (20 X 1 =20 marks)
| 1 The supply curve of perfectly competitive industry under long run may be:
a. positively sloped  b. negatively sloped c. horizontal to x-  d. all of the above
axis
2 In order to avail the benefits of price penetration policy the elasticity of demand must be:
a. more elastic b. inelastic c. unitary elastic d. infinity elastic
| 3 In monopoly:
a. AR=P=MR b. AR=P>MR c. AR=P<MR d. AR>P=MR
4 Policies to promote a product is known as:
a. price penetration b. value pricing c. promotional @&roduct line pricing
: pricing
9 In perfect competition a producer is price: Q
a. maker b. taker c. whelege £ d. both a and ¢ B
6 If Q=312 +9K’ then MPL (i.e. dQ/dL) will be:
a. 6L b. 27K . ABK d.27L
7 The situation in which a producer act as p Wer is called:
a. pure competition  b. perfect Q monopoly d.bothaandb
competition

8 In order to avail the benefits of % KMnming policy the elasticity of demand must be:

a. more elastic b. inglast c. unitary elastic  d. infinity elastic

9 If net present value is posi . NPV >0), then:
a. IRR>7 IRR=+ c. IRR<r d. none of the above

10  Extreme price pen&gatign policy initially the price is low to attain monopoly power is known
as:

b. price skimming c. simple pricing d. bait & hook model

11 Accordj Ktatistical measurement of risk and uncertainty the best criterion for

| a. maximax b. CV criteria ¢. maximin d. CE criteria

12 In short run the supply curve of the firm will be that part of MC which is above the:
a. AC curve b. AVC curve c. AR curve d. AFC curve
13 In the kinked portion, no matter what happened with the cost, the price and output will:

a. increased b. remains same c. decreased d.botha &c

14  Duality theorems ensures that if the S’z of the primal are zero then corresponding Yi’s of the

duel must be:
a.=0 b.<0 c.Yi=Si d.>0
15 For minimization of the cost function, the second derivative must be:

a. equal to zero b. greater then zero _ c. less then zero d. equal to one
16 If TR = f(Q) then marginal revenue (MR) is defined as:
a. =d(TR)/dX b. =dX/d(TR) c. =dQ/d(TR) d. =d(TR)/dQ

17 In perfect competition:
a. AR=P=MR b. AR=P > MR c. AR=P<MR _d. AR>P=MR
18  Penetration policy where product is very cheep but the spare parts (replacements) are very

costly is called:
a. predatory pricing b. price skimming c. simple pricing d. bait & hook model

19 For normal profit the condition is that at the point of equilibrium:

a. MR=P=AC b. MC =P =4C c. MR=P=AC d. MC=MR=P=AC
20  For one mutual capital project, the results of NPV and IRR will be:

a. inconsistent b. consistent c. NPV better d. IRR better
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Course Code: ECO-607/D53 Course Title: Managerial Economics
Time Allowed: 02:30 Hours Maximum Marks: 80 and Pass Marks: 40%

LNO te: Attempt FOUR questions in all. All questions carry equal marks.

Question # 2: Differentiate between RISK and UNCERTAINTY for optimal decision
making and also outline the most appropriate method to measure RISK.

Question # 3: What is ENGINEERING technique of cost estin@&? How can it be

used for short run and long run cost estimation? Q

Question # 4: Elaborate the terms OWN PRI ICITY, CROSS PRICE
ELASTICITY and INCOME ELASTICITY cf dema®d. Assume the firm has the

following DEMAND and COST functions @

P =150+0.5Q and 7C =100 +3Q + 70, Find \ .

(i) Profit Maximizing Output, (i) P aximizing Price, (iii) Maximum
Profit

Question # 5: Highlight the BA ®§TATIC model of sales revenue maximization
for single product with and yithowsADVERTISING.

Question # 6: Write NQTE y TWO of the following
(i) PRICE SKIMMIIC) iy, (ii) BREAK EVEN Analysis, (iii) HALL and

HITCH Report

Question # 7: Q{m the CAPITAL BUDGETING process with the help of NET
PRESENT VALUE (NPV) and INTERNAL RATE of RETURN (IRR) methods, which
one, in your opinion, is more appropriate and why?

20

20

20

20

20

20
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MA Economics Part 2" _ 1st Annual 2015
Course Code: Eco-D54 Course Title: Agricultural Economics
OBJECTIVE PART Time Allowed: 30 Minutes Marks: 20

‘Note: The question No.1 is compulsory and its all parts carry equal marks. Please attempt the answers on same
paper and return it to center superintendent with in the time allowed.

Q. No. 1
1. Maize, rice a]u1g1'wlxeat are generally referred as:
A. Root crops B. Cereal crops

C Crops granaries D None of these

2. Areas greatly affected by water logging and salinity in Pakistan is:

A. Flooded by hill torrents B. Irrigated by tubewells
G. Irrigated by perennial canals D. None of these

3. What is the total length of irrigated canals in Pakistan? &
A, 62000 km B. 64000 km @
C. 66000 km ) ' D. None of these

4. The major sugarcane-producing province in Pakistan is: @
A Punjab ' B Sindh

C. KPK D. Balu i@
5. Green revolution has not been that 'green' as it has been made 0 x Decause:
A lf is confined mainly to whéat B. I ned to select regions
C. Consumption of fertilizer has not picked up D.@of these
6. The Indus Water Treaty was mediated by: @
A, IMF % World Bank

C. IBRD D. None of these

7. Which are Pakistan's major seasons for agRguftral crop?

A. Kharif B. Rabi
C.  Kharif and Rabi Q D. None of these
.. What is the main cash crop P an?
A.  Rice B. Bajra
C. Cotton D. Grain
9. The percentage of cultivation land of the total area of Pakistan is about:
A 25% B. 35%
C. . 45% Dy 55%
10. percent population directly or indirectly depends upon agriculture sector:
A, 50% B. 60%
C, 67:50% D. 80%
~11. The Green revolution is:
A. A new strategy for Agricultural Development B. An uprising of the peasantry
C. A breakthrough in tree plantation ) D. Issue loan
12. How many land reforms are implemented in Pakistan?
A. 3 limes B. 5time
C. 7 times D. 9time
13. Pakistan Green Revolution was started in the period of:
A. Liaquat Ali Khan : B. Ayub Khan
o Zulfika'r Ali Bhutto D. None of these

p-T-0

r—




Agriculture to go hand in hand with industrial ' B
development ’

Industrial development must precede agricultural D
development ’
. For achieving food self-sufficiency __is crucial:
Mechanization B.
Mechanization and Modernization D

Development of Industry Sector B.

Development of Agriculture Sector D.

. Empirical evidence in case of developed countries suggest that general economic development requires:

Agriculture growth must precede industrial
development

None of these

Modernization

None of these

. Pakistan Agricultural Research Council (PARC) carries out its research work for the:

Development of Manufacturing Sector

i

None of these

. Optimizing the use of farm resources on an individual farm level. It is a:

Farm management B. Production ec«m@u

Agricultural marketing D.

. Opportunity cost is:

Cost of supplementary enterprise B.

. Net return per hectare is:

Macro ec? O

Co next best alternative foregone

Cost of cultivation @l of production

Overall efficiency measure @

Specific efficiency meastre D.

. When variable cost is zero, the total cost will b(b
Equal to variable cost % B

G

Equal to average variable cost D.

Partial efficiency measure

None of the above

Equal to fixed cost

None of the above
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Note: Attempt any four questions. All questions carry equal marks.

2. What is the purpose of studying agricultural economics? Discu% crilically. (20 marks)
D

/"/L"’ & u)’“z; //WM’ L. “"’/ UW’J”LSC/P \)
3. Lxplain the RLLdldldH thuny of corn rent and explain 11 umcally (20 marks)
} OJ 9(,(”"//”,(//\//,9 (ja},(]d///(v}w Kéconm/lnm ‘ﬁwyd @)

4. Lixplain the following: (20 marks)

a) Cobweb model

b) Price supply response in backward agriculture Q@

5. Do you think that Pakistan is food secured country? D()Ls uc sector play role in food security if yes
then how? What SLIL"C§1|011 can y()u give to improve the QQ © (20 marks) S
;, N S PR LI DN ¢ )
s [\_/}/);/ o _/(/*)J’)ﬂg/itg ")UL/")L Ju)d/?)MU/UJQ
" ——-—a '

5 = P as /}g U AR
. . 2 P

P A A s 5 O o / S

Q) : WA ‘*’/f«}}’db (O

6. Fxplain green revolution | and its response? What is present status of green revolution in Pakistan?

Give unpn ical Andlysm ) . (20 marks) -~

7
L %U @//4&“//}/ U/M””ﬂ}(//L./Jﬂ)/Uw’UV/l (6/
/ crw/éz/(ﬂ) \//M@)fj’(f‘\/uyj}/ 7

\

7. How does agriculture play an important role in economic devclopmcnt? Give complete analysis. (20 marks)

n N

2 ; A
AP E ) e tr sty e
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Course Code: Eco-D55 Course Title: Advance Mathematics Economics

OBJECTIVE PART Time Allowed: 30 Minutes Marks: 20

Note: This question No.1 is compulsory and its all parts carry equal marks. Please
attempt the answers on same paper and return it to center superintendent with in the
time allowed. Circle the correct answer.

Q No.1 Choose the correct option

1. Integral of j3x2dx

a). 3x+c¢ b). x* +¢ ). x'? +¢ d). x+c

o

dt

8). Yy =de™  b) pur=4Ae* -9 &y, =%" d@a &c

3. Present value of Rs 1000 to be received in future for evegvhen discount rate is 5%
a). 10000 ° b). 20000 €).23450 \@ d). 30000

4. The ancflon having negative sign, its mteg&Qﬁﬂ equal to -------------

Solution of @ +5y=0and y, =9 é

a). Negative b). Posmve d). Inverse

3 Solutxonofj' 2B dx OQ

2). 0 é d). 1/3
6. Given MPC = 0.3afid C 40 when Y = 0. Find the Consumption Function -
a). C=0.8Y b). C=0.8Y +20 c).C=40+0.8Y d). C=-40+0.8Y

-~ 7. General solution of %"i =b
: !

a). y,, =4 , b).y, =A+bt ). Yy = Yoy + 01 d).y,, = bt

8.1f y(,, + ¥, = 7 ,the value of particular integral be
- . 7 :
a). 7t b). 7 £l Et d). —¢

9.Integral of jcos 0.do =

a).cos 0 b) —cos 0 ¢).sin 6 d). —sin 0
10.The COBWEB Model is very much true in case of products.
a). Textile b). Agri c¢).Manufactures d). All above




(B) Fill in the blanks 10

I. If cross partial derivatives are equal then the equation is known as differential

equation.

2. Differential equations express rates of change of ) __function.

~factor is a multiplier which can be used to make exact differential equations.

S

_equation.

[SS]

~

}. Integration is used to obtain total function from

N

. The definite integral gives the definite numerical value of the

6. Investment depends upon level of previous income is an examp

{)H
7. The formula of _surplusis (F))(Q,) - | NO)dQ

0

8.A phase diagram is a geomelric 1‘cpresentationQ\zver dy/dt is a function of _ _alone.

®

n

9.A

. . : ; - e dy i
equation is a nonlinea -ential equation in specific form: g + Ry =Ty
o ' dt

10. If MR (marginal revenue) @b, then TR = ‘ using initial condition.

00
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Note: Attempt any four questions. All questions carry equal marks.

Q.No2(a) What certain definite integrals are said to be improper integrals? What makes an

improper integral to converge or diverge?
(b) Evaluate the following:

o0

3 5 0
. . 3%
a. |e"dt b. | 5xe* dx g, | il d. | (5-x)*dx
[ { ! (x+2)° g[

0

Q.No3. (a) Discuss the qualitative graphic approach through diagram and also plot the phase line

for the following:

B gy 6&

(b) Given Mdy + Ndt = 0 to show that j (-gy—j Ndr)dy = | (ﬁQdy)dt

Q.No 4.(a) Find the general definite solution for the@\/ing equation.

“yy +3y, +4y =12 wheny(0) =2 and ‘*8.

(b) Verify that the following equ@l is%mt or inexact? If inexact then find integrating factor.

(Ty + 4t%) dy + 4tydt =0 0

Q.No.5 (a) Discuss fie ic stability of equilibrium for the first order difference equation in

the discrete time.
(b) Given the following model:

Q,=a-Ppp, Q,=-7+p, P Pig (aB,y,9,6 > 0)
a.Give assumptions of the model
b.Find the time path
¢.Give types of time path with the nature of time
Q.No.6(a) Solve the following difference equation

}7

1+2

(b) Given Y,,, +a,5Y,

1+1

=27

4]

+2y:1 Y():S,\’1:4
+aY, =C Then find the all format of Y, and Y.

Q.No.7 Write a note on the following

a. Kuhn Tucker conditions b. Domer Burdon of debt model
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